
𝑈0 = 0 

𝑈𝐴
𝑘 = 0 

𝑈𝐵
𝑘 = 2 ∗

1 − (−1)𝑘

𝑘𝜋
 

 

k 𝑈𝐴
𝑘 𝑈𝐵

𝑘 
𝑈𝐵(𝑑𝐵)
𝑘 = 20 ∗ lg(|

𝑈𝐵
𝑘

√2
|) 

1 0 4

𝜋
 

5,11 dB 

2 0 0 −∞𝑑𝐵 

3 0 4

3𝜋
 

-4,43 dB 

4 0 0 −∞𝑑𝐵 

5 0 4

5𝜋
 

-8,87 dB 

6 0 0 −∞𝑑𝐵 

7 0 4

7𝜋
 

-11,79 dB 

8 0 0 −∞𝑑𝐵 

9 0 4

9𝜋
 

-13,98 dB 

10 0 0 −∞𝑑𝐵 

 

𝑈0 = 0 

𝑈𝐴
𝑘 = 0 

𝑈𝐵
𝑘 =

8 ∗ (−1)
𝑘−1
2

(𝑘𝜋)2
 

k 𝑈𝐴
𝑘 𝑈𝐵

𝑘 
𝑈𝐵(𝑑𝐵)
𝑘 = 20 ∗ lg(|

𝑈𝐵
𝑘

√2
|) 

1 0 8

𝜋2
 

-1,83 dB 

2 0 0 −∞𝑑𝐵 

3 0 −8

9𝜋2
 

-20,91 dB 

4 0 0 −∞𝑑𝐵 

5 0 8

25𝜋2
 

-29,78 dB 

6 0 0 −∞𝑑𝐵 

7 0 −8

49𝜋2
 

-35,63 dB 

8 0 0 −∞𝑑𝐵 

9 0 8

81𝜋2
 

-39,99 dB 

10 0 0 −∞𝑑𝐵 
 


